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HOW TO

Solve equations with rational expressions.

Step 1. Note any value of the variable that would make any denominator zero.
Step 2. Find the least common denominator of all denominators in the equation.

Step 3. Clear the fractions by multiplying both sides of the equation by the LCD.
Step 4. Solve the resulting equation.
Step 5. Check:

o If any values found in Step 1 are algebraic solutions, discard them.
o Check any remaining solutions in the original equation.



Solve\:ZD— @7“: @f
V=sy=-¢
yisyre=o
(\/‘57 (v-2D) =O

Y'3=€7 V-2=0
y=3 =2

\./:',0

L co= \/
|_.
-3
2
‘_.
A~
5 -



¥ 23”‘ 157‘ R#e
Solve.(l)—(; _<F
X¥® 2% = )5

yL—:Z)! -/ =o

(¥-5)x+3)=0
Y:S_ X ==



é;y( L) w

2
Solve: &F?

(82

4

Q(X l)"'('/(X-P)) = X—|

QAX=-Y Y+ 3 = »— |

Gx +4 = X—|
Sx+4=-|
SxX=-%

=-|

C""’;M

X7z 22
LEO = (a2)(x-2)




(qf";‘?” # =
Solve 3 7
Q’% + m LCD = (y+7>>(7—1>3

5_/\/—334- 20yD= &
SY~1S 2y +e= s
7y —9=5

7\/:_
Y =



mZ 4,

. m+11 5 3 AR
Solve: o r—) ey R —— LED = (m-Y w-D)

Ml = SCm-0) @cm-%\

M= SErm-s —Swm + 172
Vril= QAm + |
1= ™ o+ E;('En.w\.‘.:u_s
@"J Solution

No Selution



Solve:

z+13 6

22—Tz+10 =5



|Ve- —

+4. ¥ te

\/(\/_&B =7 + H(\/l—‘)q

| -
l —
v -(“/ R b'\/?“ |94 YUy g by
= iy .
e -
@ =2yl L - =2, Uo
i " T T o 7 12
O:\/ ‘)"l\/-lb{ E!— .,
o~ (o
o= (30 (y=4)

= @9



Solve: & — 32
r+4 2216 +9.



@t *“’“H Gl 5:132 —2x +9>“'4“FS XZ t]
2» $+3 1222—=12 "/ LED =REDG)
Q(M

QX 2= 2lx—1)

3Ixry = > (% -H\
2% 12= 2 O=) B (FED) X
2(x=1)
)2 (x=1)(x¥1)

22 -)Cx-l)cxn)

G(‘KH)'X — Ylx-DN-Q = Sx~ax+9

L= ¥ox — 8% +8 = Sx 2= +9

LGP -aX ¥y8 = Sx —2x+9

X" -]=0

(x+NEx-N=p
Y=71]

kion

NO (70\.v-



y 5 _ 2y2 —19y+-54
5y—10 3y+6 15y2—60




> 3 322 -162—16

2248  42—8 ~ 822116264




1 3 . 2

32210243 322422—1  z2—22—3°



Solve:



5 3 _ 1
z242x—3 r24+x—2 z24+5246 "

Solve:



X7 -4,2,-5

2 1 o 4
24228 2492420  z243z—10
(x+u) (x-2) (x+5)(x+q\ Cx +8D (x-2Y

Lev (v (x-2) (w4

205 — (x-2) = 4(¥r4)
RAFIO =K+ = Y+l
X F12 = Y xely
2T Sxvle

-..L{":..‘b/(
=



